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reg_asym_saml_diff bpm1X_ slope vs run
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reg_asym_saml_diff_ bpm4aY_slope vs run
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reg_asym_saml_diff_ bpm4eX_ slope vs run
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reg_asym_saml_diff_ bpm4eY_slope vs run

X2 / ndf
pOo

16.38 /88
13.67 + 0.3095

89
-536.1
608.2

35

30

25

20

15

10

olLLLL

Ll

pulllD

Entries 89

Mean  -0.0005277

Std Dev 0.429

-8

-6

-4

-2

0

2

4

6 8




reg_asym_saml_diff_ bpm12X_ slope vs run
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reg_asym_sam2_diff bpm1X_ slope vs run
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reg_asym_sam2_diff_bpm4aY_slope vs run

x2 [ ndf 5.884 /88
pO ~37.49 + 1.829

pull

i Entries
Mean
Std Dev

89
77.63
11.19

40

35

30

25

20

15

10

pulllD

- Entries 89

- Mean -0.0253

r Std Dev 0.2559

bl L b

-8 -6 -4 -2 0 2 4 6 8



reg_asym_sam2_diff_bpm4eX_ slope vs run
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reg_asym_sam2_diff_bpm12X_ slope vs run
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reg_asym_sam3_diff bpm1X_ slope vs run
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reg_asym_sam3_diff_bpm4aY_slope vs run
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reg_asym_sam3_diff_bpm4eX_slope vs run
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reg_asym_sam3_diff_bpm4eY_slope vs run

40—

X2 / ndf
pO

13.83/88

pull

[ Entries

.| Mean
Std Dev

89
-282
324.1

- pulllD
B Entries 89
60—
- Mean 0.007715
I Std Dev 0.3941
50
40
30
20—
10~
0 III|III|III'II|'IIII| II|III|III|III
-8 - -4 -2 0 2 4 6 8



reg_asym_sam3_diff_bpm12X_ slope vs run
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x2 | ndf 38.5/88
pO -65.03 = 2.85

iiididdddiiiiiiiiiidiiiiiiiiiddiiniiiiiifiiiiiiii

70

60

50

40

30

20

10

pulllD

Entries 89

Mean 0.03217

Std Dev  0.6569

-III|IIII'III'I'III'I'IImlll-|Il|III|III|III

-8 -6 -4 -2 0 2 4 6 8



reg_asym_samd4_diff_bpm4aY_slope vs run
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reg_asym_samd4_diff_bpm4eX_slope vs run
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reg_asym_samd4_diff_bpm12X_ slope vs run
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reg_asym_sam5_diff bpm1X_ slope vs run
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reg_asym_samb_diff_bpm4aY_slope vs run
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